
STAT 345 Name (Print):
Spring 2018
Quiz 3

1. X1, X2, · · ·Xn are iid with the following probability density function.

f(xi|θ) =

{
3
θe
−3xi/θ, xi > 0

0, otherwise

a) Find the expected value of the Xi.

b) Set µ = E(X). If n = 30, X̄ = 3.1 and S2 = 9.4, find a 95% confidence interval for µ
(using t-procedures).

c) Convert your interval for µ to an interval for θ. Hint: Write out your interval P (L ≤
µ ≤ R) and then substitute µ = E(X) which should be a function of θ. Now solve the
inequality for θ.


